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H 12 47| XS 28 vs GSZEEA (&F, 2021.10.22, 19:00~20:16)
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H 12 B71. HHMF2 vs GSEH A (

27

2, 2021.10.22, 19:00~20:16)

=23 Vs GSZEIA
671 No Block 27
1474 /7 07H 1 Block 97 7 274
5370 / 47H 2 Block 697l / 87H
174 7 07H 3 Block 170 7 07H
*22Z Y AL "/ HE3 N
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
HHME2HE 34 'S GSZEA ZA
170 /7 07H(00.0%) No Block 271 / 27H(100.0%)
870 7 370(37.5%) 1 Block 97H / 670(66.7%)
6171 / 267H(42.6%) 2 Block 4674 /7 2371(50.0%)
170 / 07H(00.0%) 3 Block 170 / 07H(00.0%)
*BHANE /83 (438

2021-10-22 20:21

E AE %53 AlZERE ol =42
MIET 2| 15(36.6%) 9(22.0%) 2(04.9%) 2(04.9%) 0(00.0%) 13(31.7%)
MNEZ2| 22(73.3%) 5(16.7%) 3(10.0%) 0(00.0%) 0(00.0%) 0(00.0%)

oA 37(52.1%) 14(19.7%) 5(07.0%) 2(02.8%) 0(00.0%) 13(18.3%)
* BANE (BHREHB)
> GSZEA
E AE %53 AlZERE ol =42
MIET 2| 6(26.1%) 6(26.1%) 5(21.7%) 1(04.3%) 1(04.3%) 4(17.4%)
ME=< 24(68.6%) 7(20.0%) 3(08.6%) 0(00.0%) 0(00.0%) 1(02.9%)
oA 30(51.7%) 13(22.4%) 8(13.8%) 1(01.7%) 1(01.7%) 5(08.6%)
*SANE (SHREH8)
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H 12 F7|. HHME2Y vs GSEH A (BF, 2021.10.22, 19:00~20:16)

D> HEXE28 (F2| X > GSZH A (20}
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ol 2y &3 s b B7l | SHME HAE sus s3 =K S A%
1 GSZHA 6 2 0 2 6 0 - 152 116 1.310 55
2 e Fa= 6 2 0 2 6 1 6.000 173 129 1.341 25
3 KGCRI&tS A 3 1 0 1 3 1 3.000 91 83 1.096 35
4 a4y 3 1 1 2 3 4 0.750 165 160 1.031 15
5 IBK7| 23 0 0 2 2 2 6 0.333 156 195 0.800 3T
6 | H A 523 0 0 2 2 1 6 0.167 131 166 0.789 214
7 St 2T A 0 0 1 1 0 3 0.000 56 75 0.747 11
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